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€Tx.3 A \An\\f-ot‘m "'OA \)5 2.00 m \Of)j an.a has a2 MMAass 1.80 \(3-
Rem TVO c\amp
Total ),
Xewo = 1.20m [ 731 i
X=0 1 %x=7 ®=2,6D
=1,20
X . = M gxX, + Mg %2 a's cancel o= 1120 m
e 7 = ) -
(m, + WP Xeg > Xew
Xewo = MX, +My X2 let m,=1.80 lky X, = 100 wm
M, +mz m, =2.40kg  X,= 7
m X2 = (m ‘J‘"?zBXMM m X
= (m+m.) Xew —m, X, = (420 k) (‘-20M>‘Q_-8°“3)(4»0Dw>
m, 2.40 kg
XQ_ = la 35 m
Ex.© Twe PeoP)e are carrj\nj a uniform weoden oz td that
s 3.00m long, and weighs 10 N, ST
J) J 100 N
¢eoN
|
) ZFy =0 & o) 1
7 ! i X="7 %
Other force =100 N. X=e.00 ° X=3.00m
However, where should
this force be aFPl;eA ’ 10 N

2.\ > T=0 Czledzte the +oraues with respec) To X=0.0y

] 2.T= (o NY(e) - ltpON(l5Dm> -\—looN()() o)

X = l6ON (l.50m> =|2.40 m
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EX. )2 A uniform \zdder 5.00 m \O"ﬁ res¥ys acjams’r a »;O)
fricHonless, vertical wall , O ,63((?3:‘&_\‘
\2ader Mg. = 160 N Nt
man mq = F#40 N - é:
N .Cemzx___ 2 _ >
] £ = M5 N g
2 F =0 //
TFy= N-mg-Mg=0 J
- N = g 4 Maq N O
gg —ué(nr)q-LMq 4 (\‘ /A
_oq[w/omoj/v N/
$= 36O N |
5 i o
b.) 9§ =7 when Hhe = 1/ ! va
LI TS T YA
man s % the Ms=04 ' 5
Wat} vp the lzdder © —t— 3.c0m——
_Z =0 Pivot at
the "'O‘P of the Vzdder
S0 ‘% is an externzl Yorque, v b 1
S T = Mg (1.5m) +mg (g—(a.oow»)) -N (3oo.m) + £ (q.oom> =0
9o N *moN u.oN |
= N (3.00m) ~ mg (= m) — Mé (1.5 ) fs= 11N
H.00 m .
e || How $ar vp the lzdder can the mazn 40? N i h

> T = Mg(t.5) +mq 3"“?13 N(soom)+¥5 (4.00m)=0

Selve for g, S= 2,70 m
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Ex. 2% A circular steel wire 2.00m \onj must stretch ne more ..,
L, =2,.00w
AL = 0.25¢cy Y= siress = F/A _ Fl, = Fl,
F=%%0oN _ Shain ALA, (A)AL %ZAL
=i&_. "“—&(?oo N\(zwms = 3.5¢9X10,;n
TTALY ‘n‘(o,25xlo m3(2 OX16 NIMY
-3
D= 1.89%0 m D=1),82 mm
Ex, 26 In the Cha“enejpr Deep of the Mzriznas Trench, the deP'Hn,..
depth = 10.9 km
p= L1 x 105 Pz = Ap B=— Ap AV= "A?Vo
Koer = 45.2x16" PZ Av/, B
= .03 x 103 keq /m> AV=-XK A? Ve
= 3 -2
AV = —45.8x0 Ps (belDBPa) (‘m"‘) =|-5.31x0m"
_bettom oF the trench er =53.] \ifers
\ 74 >
b. D= Mass — IDBXIO kq o= L0110 ka
’ J L_ )] - Ja
volum € 1m - 5,31xl0 m m
4/\___\__

You _are 'h'\jina_t) Yo raise a b]csr\e Yire of mass m and

radius R_0p over a cuch o8 height . //_\>

E. R

2.7

+

=0 Z’[—"~F(R-h) tmgl =o ( "

2% RE (r-h)'= R’-R“’—hizﬁh \

cenTer oH

the wheel

. Al
A h N\ my’ “]° e
F-= quZRL—h’ f ‘bW&

R- h ‘ 2bout the Po‘:nf O
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Prob. T4 Ccm')',d;

b> When the force s applied at the +0P of the wheel,

ST=0 >T=-F(2r-h)+tmgd =0

Teop of

the whee] F= mg J 2Rh-h*

2R-h

c) There is less force required when the force is a)?lb)l'ed

at the +0}> of the wheel.




